CONTRACT AGREEMENT

0 2 APR 2024

,2024

THIS AGREEMENT, made this _____ day of between NATIONAL IRRIGATION ADMINISTRATION, Regional Office No. 1, Brgy. Bayaoas, Urdaneta City, Pangasinan of the Philippines, represented herein by its Regional Manager A, Engr. Danilo V. Gomez (hereinafter called the "Entity") and RIVBROS CONSTRUCTION FACTORS & DEVELOPMENT of 117 Rizal St., San Manuel, Pangasinan of the Philippines, herein represented by its Owner/Manager, Engr. Romeo C. Rivera (hereinafter called the "Contractor").

WHEREAS, the Entity is desirous that the Contractor execute **Tambidao CIS/ Repair** of CIS/CY 2024/ Construction of Diversion Dam and Canal Lining, located in Bacarra, Ilocos Norte under Contract No.: R1-INIMO-CISRep-2024-01 (hereinafter called "the Works") and the Entity has accepted the Bid for **EIGHTY -TWO MILLION THREE HUNDRED** ELEVEN THOUSAND FIVE HUNDRED TWELVE PESOS & 85/100 (PHP 82,311,512.85) by the Contractor for the execution and completion of such Works and the remedying of any defects therein.

NOW THIS AGREEMENT WITNESSETH AS FOLLOWS:

- In this Agreement, words and expressions shall have the same meanings as are 1. respectively assigned to them in the Conditions of Contract hereinafter referred to.
- The following documents as required by the 2016 revised Implementing Rules 2. and Regulations of Republic Act No. 9184 shall be deemed to form and be read and construed as part of this Agreement, viz.:
 - a. Philippine Bidding Documents (PBDs);
 - Drawings/Plans; i.
 - Specifications; ii.
 - Bill of Quantities; iii.
 - General and Special Conditions of Contract; iv.
 - Supplemental or Bid Bulletins, if any; v.
 - **b.** Winning bidder's bid, including the Eligibility requirements, Technical and Financial Proposals, and all other documents or statements submitted;

Bid form, including all the documents/statements contained in the Bidder's bidding envelopes, as annexes, and all other documents submitted (e.g., Bidder's response to request for clarifications on the bid), including corrections to the bid, if any, resulting from the Procuring Entity's bid evaluation;

- c. Performance Security;
- d. Notice of Award of Contract and the Bidder's conforme thereto; and
- e. Other contract documents that may be required by existing laws and/or the Procuring Entity concerned in the PBDs. Winning bidder agrees that additional contract documents or information prescribed by the GPPB that are subsequently required for submission after the contract execution, such as the Notice to Proceed, Variation Orders, and Warranty Security, shall likewise form part of the Contract.
- In consideration for the sum of EIGHTY-TWO MILLION THREE HUNDRED 3. **ELEVEN THOUSAND FIVE HUNDRED TWELVE PESOS & 85/100 (PHP** 82.311.512.85) or such other sums as may be ascertained, RIVBROS **CONSTRUCTION FACTORS & DEVELOPMENT** agrees to Three Hundred Thirty (330) calendar days in accordance with its Bid.

JR.

ADOR

SERGI

C. MOULIC, CPA

ANESSA

Vitnesses

õ

Rivbros Construction Factors

Development

National Irrigation Administration

By:

BY:

Division Manager A, AFD

RIVERA

ENGR'ROME

MSME

GOMEZ,

DANIL

ENGR.

Regional Manager A

Owner/Manage

Page 1 of 4 Contract Agreement for the Tambidao CIS/ Repair of CIS/ CY 2024 R1-INIMO-CISRep-2024-01

Item No.	Description	Qty.	Unit	Unit Cost (Php)	Amount (Php)
L	TEMPORARY WORKS				
1.0	Mobilization and Demobilization of Equipment	1.00	l.s.	97,092.00	97,092.0
2.0	Project Bill Board/Sign Board	1.00	unit	5,794.20	5,794.2
3.0	Temporary Facilities (Bodega)	1.00	l.s.	81,432.00	81,432.0
4.0	Construction Safety and Health	1.00	l.s.	156,600.00	156,600.0
11.	DIVERSION WORKS			h	
1.0	Care of Water	4.00	mos.	102,660.00	410,640.0
2.0	Construction of Coffer Dam	629.95	cu.m	186.50	117,485.6
3.0	Structure Excavation (Mech)	9,134.11	cu.m	143.72	1,312,754.2
4.0	Structure Excavation (Manual)	89.23	cu.m	306.27	27,328.4
5.0	Procurement, Installation & Piling of Sheet Piles	1,572.40	l.m	5,851.62	9,201,087.2
6.0	211 kgs/sq.cm. Plain Concrete	1,470.23	cu.m	10,322.46	15,176,390.3
7.0	Rubble Masonryw/ Class "A" Concrete Binder	5,463.47	cu.m	6,724.23	36,737,628.8
8.0	Procurement & Stockpiling of Reinforcing Steel Bars	15,994.68	kgs.	76.14	1,217,834.9
9.0	Cut, Bend & Installation of Reinforcing Steel Bar	15,994.68	kgs.	198.48	3,174,624.0
10.0	Protection Works - Gabion Works	2,205.58	cu.m	3,729.98	8,226,769.2
11.0	Procurement & Installation 10cm dia. PVC Perforated Drain Pipe	206.31	l.m	340.49	70,246.4
12.0	Procurement & Installation 5 cm dia. PVC Weepholes	57.75	l.m	273.76	15,809.6
13.0	Procurement & Installation Filter Drain	89.23	cu.m	834.97	74,504.3
14.0	(Mech)	1,306.49	cu.m	148.86	194,484.
15.0	Pipe Railings	1.00	l.s.	85,550.00	85,550.0
16.0	Fabrication & Installation of Trash Screen at Gate House	1.00	l.s.	159,123.00	159,123.
17.0	Fabrication & Installation of Trash Rack	2.00	unit	37,642.00	75,284.
18.0	Fabrication & Installation of Intake Gate	2.00	unit	130,036.00	260,072.
111.	CANALIZATION				
1.0	Common Excavation (Mech)	986.21	cu.m	106.08	104,617.
2.0	Sand and Gravel Bedding	84.69	cu.m	930.78	78,827.
3.0	Forms	120.24	cu.m	5,415.32	651,138.
4.0	170 kgs/sq.cm. Plain Concrete - w/ Forms	158.41	cu.m	6,881.64	1,090,120.
5.0	Reinforcing Steel Bars	15,835.58	kgs.	76.14	1,205,721.
6.0	Cut, Bend & Installation of Reinforcing Steel Bar	15,835.58	kgs.	114.64	1,815,390.
7.0	Construction of Construction Joint	270.44	cu.m	776.79	210,075
8.0	Backfill with Compaction	1,999.33	cu.m	138.59	277,087

MS. VANESSA C. MOULIC, CPA Division Manager A, AFD Witnesses.

SERGID SALVADOR, JR ...

Ation Rivbros Construction Factors & Development By: MSME ENGR. ROMEOC. RIVERA Owner/Manager

GOMEZ, MSME National Irrigation Administration ENGR. DANILO V. COMEZ Regional Manager A By:

Page 2 of 4 Contract Agreement for the Tambidao CIS/ Repair of CIS/ CY 2024 R1-INIMO-CISRep-2024-01

4. The National Irrigation Administration agrees to pay the above-mentioned sum in accordance with the terms of the Bidding.

IN WITNESS whereof the parties thereto have caused this Agreement to be executed the day and year first before written.

ENGR. DANILO V. GOMEZ, MSME Regional Manager A

ENGR/H *Owner/Manager*

Witnesses:

MS. VANESSA C. MOULIC, CPA Division Manager A, AFD for

National Irrigation Administration – Region 1

SERGID SALVADOR, JR.

for

Rivbros Construction Factors & Development

.

Page 3 of 4 Contract Agreement for the Tambidao CIS/ Repair of CIS/ CY 2024 R1-INIMO-CISRep-2024-01

REPUBLIC OF THE PHILIPPINES) RINALONAN, PANGASINA*) S.S.

ACKNOWLEDGMENT

BEFORE ME, a Notary Public for and in the above jurisdiction, this ______ day of ______ at <u>Urdaneta City, Pangasinan</u>, **ENGR. DANILO V. GOMEZ**, Regional Manager A of the National Irrigation Administration Regional Office No. 1, with Professional Regulation Commission (PRC) Identification Card No. 0027268, valid until 23 August 2025, and **ENGR. ROMEO C. RIVERA**, Owner/Manager of Rivbros Construction Factors & Development with Professional Regulation Commission (PRC) Identification Card No. 0025486, valid until 22 January 2027, are known to me to be the same persons who executed the Contract Agreement consisting of four (4) pages, including this Acknowledgment, and they acknowledged to me that the same are their own free and voluntary act and deed, as well as the institutions they represent.

WITNESS MY HAND AND NOTARIAL SEAL on the date at the place first above written.

Doc. No. <u>313</u> Page No. <u>49</u> Book No. <u>59</u> Series of 2024

AMEIS MELVILLE V. TINIO

NOTARY PUBLIC UNTIL DEC. 31, 2024 BINALONAN, PANG. PTR NO. 3265726 1-2, 2024 BINALONAN, PANG TIN NO. 924-410-311

IBP LIFETIME NO. 05857 ROLL OF ATTY'S NO. 46228

Page 4 of 4 Contract Agreement for the Tambidao CIS/ Repair of CIS/ CY 2024 R1-INIMO-CISRep-2024-01